Algebra 2 Worksheet Solutions November 1, 2012

10. The graphs of the functions
f¥) =22 - 3x — 2 and g(x) = i"'——ﬁ: 3

arc drawn as shown, Using the graphs,
estimate the solutions of the following
equations

(a) f ('\') =1{)  where green curve cuts x-axis
(b) g(x) =0 where blue line cuts x-axis
(c) f(.\') = g(x)‘ Intersection of blue line and green curve i

@) X=-0S od X=2
) x=z-03
© X2 =0b ond X=2:b

Section 2.2 Nature of quadratic roots

9. Prove that the equation (k ~ 2)x2 + 2x ~ k = 0 has real roots, whatever the value of k.

1. If (b2 —

2. If (b2

3. If (b — dac) <0 -
4. 1f (b° — 4ac) isa

a= ko, bt-tac = ()4 (K-2XK) = Y4 + 4K - %K
b=2 4(P-2x+1)
ce-K = W(r-1XK-1) = 4(x=1)" 20
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